SN OYREIHS DR

el CIYHME &8 D¢

ST oow

g UgNE E3™ Ot
Bt

SA - BB BRI (3) - MSAY - B Ol &+ o4 SSa HmEET

AHEZ MG 2t 50,482,093 44,038,993 6,443,100
& 47,353,000
< 3,129,093

CIMHME X IJtxl M2(23 2,159,096 951,596 1,207,500

CIEHE &€& I8 2= 2,159,096 951,596 1,207,500

CIAME Bat® Jixl &= 101,500 21,298 80,202

201 Let24dy] 6,000 7,000 A 1,000

01 At 22/l 6,000 7,000 A 1,000
OLIHNMEZMIEZARE & LA 294 6,000

202 O4dl 4,500 7,298 A2,798

01 = LH 4 Hi 4,500 7,298 N2,798
OLIYHE H3tA ItX 4,500

301 et a = 6,000 7,000 A 1,000

09 &AL HI B A S 6,000 7,000 A 1,000
OLIHXNMEZMIZ L LAY 29 6,000

307 glz2tol & 85,000 0 85,000

02 QIZtFAE XS 30,000 0 30,000
OUYHE 83t =& 30,000

04 BIZHHAIE XS 55,000 0 55,000
OLUAME ZEatal Al 55,000

CIHME Fias 235 MM 68,876 60,298 8,578

201 Let24d] 45,000 18,000 27,000

01 At 2teltl 15,000 18,000 A 3,000
OUYNME JtxEs= 15,000

03 A2 Z Hl 30,000 0 30,000
OLYHE YA < 30,000

202 odl 23,876 42,298 A 18,422

01 = LH o4 1l 23,876 42,298 AN 18,422
OLYHME Zas 5 IR F& 23,876

CIHME "3t™ 0l 1,988,720 150,000 1,838,720

202 04 Hl 3,720 0 3,720

01 = LH YI 3,720 0 3,720
OUYHME E3tA 0l 3,720

308 X EHHSOIA 15,000 0 15,000

01 HIXNHHBNEES 15,000 0 15,000
OLIYNE =2HHM8Ts} 15,000

403 TUXISH S A=0 1,970,000 150,000 1,820,000

01 X SHHAN2E = 1,970,000 150,000 1,820,000




SN OYREIHS DR

M CAME %%?’E.O;P_EI Ho(2std2Z/2sty 22t
&S CIAHME LA Jig = (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Od30E A 1,500,000
OUHNME AEcI2dd Y= ALY 300,000
OH"sle & A A 170,000
HAXNG 4o 2 SHIELXAML/RNALEAI) 48,295,800 43,041,800 5,254,000
= 47,353,000
< 942,800
g§3XF e 48,295,800 43,041,800 5,254,000
= 47,353,000
< 942,800
StEt: MEIEIIHUE ZHAH(=21) 3,250,000 0 3,250,000
& 2,500,000
< 750,000
403 MtXISHHE X201 E 3,250,000 0 3,250,000
& 2,500,000
< 750,000
01 AXSHMA=2EE 3,250,000 0 3,250,000
OetSts MEHESIHE T AAY 3,250,000
= 2,500,000
< 750,000
3N g At =& 13,700 20,800 A7,100
202 04l 13,700 20,800 A7,100
01 = LH o4 1l 13,700 20,800 A7,100
OTZXNAMLAY S =& 13,700
HZXS X (=1) 42,759,000 38,281,000 4,478,000
& 42,759,000
403 HXSHHSA=0l& 42,759,000 38,281,000 4,478,000
& 42,759,000
01 HXSHMA=E X 42,759,000 38,281,000 4,478,000
(OFSE=DNIC:ENE 42,759,000
=1 42,759,000
Het A el x4(=22) 1,573,100 4,740,000 A 3,166,900
& 1,394,000
< 179,100
403 MtXISHHE X201 & 1,573,100 4,740,000 A 3,166,900
& 1,394,000
< 179,100
01 XS M A=2EE 1,573,100 4,740,000 A 3,166,900
Odst N&EH sz =4 1,573,100
= 1,394,000
< 179,100
SN=sMEIEE =45 (210) 700,000 0 700,000
& 700,000
403 XIS E X201 & 700,000 0 700,000
= 700,000




SN OYREZMSL YN

Ho: FINY 49 B FA(IELXNANL/NALEA)

Sel BT W CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 AXSHMA=2EE 700,000 0 700,000
OsA=sMEsEZ =4 700,000
= 700,000
HERAZH(CIYNEZ G2 ) (IIEH/IIE) 27,197 45,597 A 18,400
Jl2&dl 27,197 45,597 A 18,400
2FA2Y JI23H 27,197 45,597 A 18,400
201 L2l 19,357 39,357 A20,000
01 At 221l 19,357 39,357 220,000
ORAN2Y A2l 19,357
202 Odl 4,840 6,240 A 1,400
01 = LH YI 4,840 6,240 A 1,400
FNM2E S WAL 4,840
203 YR =&l 3,000 0 3,000
04 FN2ELSZ=TH| 3,000 0 3,000
©15¢1 0l 5t 250,000 »12& 3,000




